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Bl E8 AF_AD c83 267884.ntm 1. The computer revolution may
well change society as as did the Industrial Revolution. A)
certainly B) insignificantly C) fundamentally D) comparatively 2. In
Britain people four million tons of potatoes every year. A)
swallow B) dispose C) consume D) exhaust 3.1’ d his
reputation with other farmers and business people in the community
[1 and then make a decision about whether or not to approve a loan.
A) take into account B) account for C) make up for D) make out 4.
She cooked the meat for a long time so as to make it enough
to eat. A) mild B) slight C) light D) tender 5. We take our skin for
granted until it is burned repair. A) beyond B) for C)
without D) under 100Test D D O D OO0 OO ooooon
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